Geometry

Unit 2 Quiz Review
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Find the coordinates of the vertices of each figure after the given transformation.

1) translation: 4 units right and 2 units down

Ay

A
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e

5) rotation 180° about the origin
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Y

Y

7) reflection across the X- ax1s

S(-1,1), R(2. 5
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2) reflection acrogs y = x
v

Y
4) reflection across

6) rotation 90° clockwise about the origin

O(-3, -1), R(-4, 4), S(~1,0)

8) translation: 6 units left and 1 unit down
H(1, -4), 1(3.1). J(5, -4)
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You will need a separate piece of paper to show all your work. This review is nof comprehensive; always be sure
to go back through your old homework and quizzes.

I can write a congruency statement representing two congruent polygons 0 F
1. Write a congruency statement for the two triangles at right.

ACCh 2 AGOE

1 can identify congruent parts of a polygon, given a congruency statement
2. List ALL of the congruent parts if AEFG =aHGF

A R

c L = 4w FFE 2 w6
25 $46 e = GF

(= ARAR
! can name the five ways to prove triangles are congruem
3. Name the 5 ways to prove triangles congruent.

SSO, §hS, Ak, KRS, HL

[ can prove triangles are congruent

For each pair of triangles, tell: (a) Are they congruent (b) Write the triangle congruency statement. (c) Give
the postulate that makes them congruent.
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I can mar}L pieces of a trmng!e canoruem given how they are to be proved congruent
7. What information is P
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8. What information is missing to use SAS?
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I. Proving Triangles Cbngruent:

For each problem below, write a two-column proof on a separate piece of paper.

1. Use AAS o prove the tiangles congruent. A 8 5. Givew: Bis the midpoaint of DT AR 1 1T
Given: AD || BC, Al = CR + N T+ Prove: AABD = AARC
Prove: AAF[ = ACER '
pl e 5
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2. Given: KM L JL, JA = IV, ZJMK = ZLMK KL‘ e ”
Prove: AJRM = ALKM [ A

Givens AR = DE. 2= /F
'rove: SARC = ADEF

6. Use AAS o prove the riangles congruent.
Given: 2F and 217 are right angles.
QR || ST

Given: JK = ML, 2/ = ZMIK

Prove: A 0PN = S58ROQ
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II. Using CPCTC
1 _
7. Given: G is the midpoint ol FH. 10, Given: WX =XV =17= 7V
BE=FH Prove: ZW= Y
Preove: £1= 22
= W —t—1 X
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P
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8. Given: LM bisects ZJLK. JL = KL 11, Given: Mis [hc_nlid[mim o
Prove: Mis the midpoint of JK. PO and RS
Prove: m =PS
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9. Given: ACz=AD, CR= DR .
Prove: AR bisecls 2 CAD, T
Atz > B
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